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A Compilation of the Existing Data of
Up-right Breakwater with Wave Dissipating Capacity

Tadahiko YAGYU#*
Miyuki YUZA**

Synopsis

Recently, various kinds of up-right breakwater with wave dissipating capacity are
constructed. The breakwater has a capability of reducing a reflection wave through its
perforated front wall and wave chamber behind it. The breakwater is divided into two
types. One is the special type caisson with a wave chamber behind a perforated front
wall and another is the block type which has a wave dissipating capacity with a wave
chamber and a perforated front wall composed of the deformed concrete blocks.

Since, the design method of the breakwater has not been established yet and is
expected to be developed. The authers compile the data such as the design conditions
and the cross-section of the existing breakwaters of the said type into this technical note,
in order to facilitate the designers to design the breakwater or establish the design method.
The number of the breakwater compiled in this note is 142.

SR

* Chief of the Design Standard Laboratory, Design Standard Division
**  Member of the Design Standard Laboratory, Design Standard Division
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